~Fiz& (mm)

INETASERIK

MBI ERRERGTRESE - RS (A=Y —R) II2&D

BiF GLEYSE1135(HERKIYKRIEH . R—F —& 1)

150 FitR (Im%y)
120 = " % # % &
L FryTR-4-(%X) 1By 0.538m3
< o HERL 0.346m3
Il a
M 27 ALME 0.192m
1] ~3a#ntoesos T 77y Y 0.064m?
oo e #Bavsy—k 0.019m?
™)
23 Il ET) 0.800m?
| S:d @
-‘ﬁ:ﬁ@TﬁnDWJOO av91)—k(Fcl8) 0.116m3
R D10 5.803kg
- a L |, —D10 FHELSIL(1:3) 0.023m3
i% e %‘W D10@400 BH#ELRIL(1:3) 0.007m?
§ 8% D10 EARTAMR 12.500f@
3 #auhl)—p FeyTR—4—(8K) 2.50018
55: H5950=5Y IRy A— 5.000f&
8 140 400 (C-40) JayyT 0.214A
50 [ 540 50 HEfERA 01294
640
BSERVETER
GL
N 7
\\ //
g AN S
N 7
N 7
N e
| 40 | 640 | 40 |

MBERYVMER 1. TERURSORRICEL MERHREVETOT, TEE T, Ffa
RBUILEAATOEEADTTERE T E 2ARGIATRHE M Ufedld, TEIC LR a—L4
MBS BH5EDSH T, FRTIBOHEIC OV UL BSIRRICEDE TREZLTTEY,

B2 GLEYESS400 (HEMELY2EFEH)

Eaird (Im4Y)
& W # B
REY 0.803m?
HEL 0.631m?
FanE 0.172m?
IV —I 0.069m?
Bavy)—+ 0.020m?
120 ke 0.500m?
’5‘7'57,1913@400 25—k (Fol8) 0.097m®
EREN) EAvE #85D10 2.828ke
o I pon
S| kY il SAHD13 2.985kg
S| B0 Avam) S —KiEE 4L - FAELL(1:3) 0.009m?
GL O] D10@400 BH#ELZILA:3) 0.003m?
2 D10 HATAER 5.000(@
- D13 ﬁ%{ B+ i/ TVU950 0.133%
22 v A543 KiRE75—0x20.110) | 0.1334
e 140 410 (C-40) SavsT 0.079A
50] 550 50 EEEES 0.028A
650
WZEZRUYEER
400 1,030
N I |
7
ol 7
=
GL e
N 7
(=] \\ 7
= AN 7
N J/
| 380 | 650 | 780 |

| TAysEIHE

| Tayy AEEREYE

© >vETA
(1L, 5L)

400 400 xnfEl

i i
——r——=< -—
46%76 46 %86

a-F=

a1—F-

© SrETA
(ZEEIA)

400 400xnf@ 400

SN,

1| ). 4686 \ 53 66
(i a—F-

46x76

@ET 1)L PETRRLTVETY,

@a—F+—8ary—MTSE

120 400
)=k
T O EAvER
g bl s
120

@1— MBS T

(GAUBRDTOVIDIEE . FAVEVFORFEYHIZTERE TSN, )

120

400

|
|
MEA | rETSE IR #fHE- ABHREYE/ 12051 F
|
|

R 3 1/40

0107102
b



